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[. (15%) Please determine the expression for the equivalent resistance

Req for the circuit shown in Fig. PI. In addition, please plot the
values of R.q as a function of R; where Ry 1s varied from 0 to infinity.
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2. (20%) Please consider the circuit shown in Fig. P2. The switch S is
originally closed and the switch S is opened at t=0. Please find the
voltage waveform v(¢) and the current waveform i(t) fort> 0.
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3. (15%) Please determine the Norton equivalent circuit of the circuit
shown in Fig. P3, where §§ = 0.002 (Ampere/Volt).

3K(2

2K 1KQ

+ v - _ - “I
5V KO 0 pv

Fig. P3
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4. (15 %) Determine the value of R in the circuit shown in Fig. P4 such that the amplitude of
iis 10 A, ]

Fig. P4

3. (10 %) For the phasor circuit shown in F ig. PS5, if Z is purely resistive, please determine
the maximum power supplied from the source to Z; .

6. (10 %) For the circuit shown in Fig. P6

, where u(t) is a unit step function, please
determine i (07), ve(07) and ve(t).
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Fig. P6

7. (15 %) Determine the y-parameters of the two

-port circuit shown in Fig. P7.
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Fig. P7




